MOD

User Guide

Jonsmo

END




A M O D 5 User Manual - Benutzerhandbuch Package Content - Lieferumfang - Contenu de L'emballage - ZFEARE
] ONSBO = Manuel de I'Utilisateur - F3 F* i

Image | Q'ty | Used for - benutzt fiir -utilisé pour-fi& Image Q'ty |Used for - benutzt fir -utilisé pour-Fi%
#6-32x5 Screw /Schraube /Vis - MB / PSU/ IM Screw/ Schraube/Vis-Fan/ ufter/ ventilateur/
fm | espos| e oD a 12res aamas

M3 Screw /Schraube /Vis - 2.5” SSD/ f HDD/SSD Dampener / ddmpfer / amortisseur /
8PCS BSSDEE ((((@ Hm 8PCS Bann

4pCs | #6-32 Screw /Schraube Vis - 3.5 HDD/ @ @ 4pcg | Standoff /hauptplatinenaufnahme /

':m BHDD® & entretoise/sr:
M3 Screw /Schraube /Vis - 2.5” SSD/ Cable tie/kabelbinder/serre-cables /
" 8PCS
[Pm | spos HSSDRER P
. . § Washer / Dichtungsring /rondelle/
m 8PCS |#6-32x8 Screw /Schraube /Vis/8li 7k HE/8iR @ 18PCS ey

Connectors - Anschliisse - Connecteurs - FE3#8%
USB 3.0 Connection Type-C Connection HD AUDIO Connection

General SpeC|f|Cat|0nS Hard drive LED connection

Dimension 255mm (W ) x600mm ( D ) x635mm ( H)

. 2.0+3mm Aluminum Magnesium Alloy
Material
4mm Tempered glass

Motherboard | ITX/M-ATX/ATX

Drive Bay 2.5"SSD/3.5"HDDx*3, 3.5"HDDx*1 or 3.5"HDDx4

Front 10 Port | USB3.0 x2/AUDIO x1/MIC x1/Type-c x1

Power Supply | Standard ATX(Not longer than 220mm)

CPU Cooler | Not higher than 180mm

Video Card | Not higher than 400mm

PCI Expansion Slot| 7

Top: 120mmx2 (option)

Cooling system

Front: 120mmx3 (option
(Optional) (option)

Bottom: 120mmx3 (option)

Weight Net 9kg




installation Guide- Installationsanleitung - Guide d'installation - Z¥#5F

1.Remove aluminum bezel (Recommend for avoid scratch during installation.)

1.EntfernenSie die Aluminiumblende (empfohlen, um Kratzerwahrend der
Installation zuvermeiden.)

1.Retirez le cadre en aluminium (recommandé pour éviter de rayerlors de
l'installation.)

- FEEMmR. (BWSR , BREVNIERGEWR. )

3. Motherboard Installation 4. Graphics card installation
3. Installation Hauptplatine Zubehor 4. Installation Grafikkarte

3. Installer I'ensemble carte mere 4. Installer la carte graphique
3. ERERE 4. BFEE

2.Gehartete Glasscheiben entfernen
2.Remove Tempered glass panels
2.Enlever les vitres en verre trempé

2. ML AR

5.Install the Power Supply
5.Installation Netzteil

5.Installer le bloc d’alimentation
5. &K BIR




installation Guide- Installationsanleitung - Guide d'installation - Z¥#5F

8-1. 2.5” SSD or 3.5” HDD installation®

(" 6.There are two power supply mounting positions, please refer to image. h 8-1. Installation 3.5’- oder 2.5’-zoll-laufwerk®
6.EsgibtzweiMontagepositionenfir das Netzteil (sieheAbbildung) 8-1. Installer disque durs 2.5" ou 3.5"®
6.llexistedeux positions de montage de I'alimentation, veuillezvousréférer 8-1. ®¥%2.5” SSD/3.5” HDDEZ ®

a l'image.

L 6.BRZERMNENARMLE , BSER R, )
7.Pump mounting bracket can also mount 2.5 SSD*1 or 3.5 HDD *1 8-2. 2.5” SSD or 3.5” HDD installation®
7.Die Pumpenhalterungkannauch 2,5”SSD * 1 oder 3,5"HDD * 1 montieren 8-2. Installation 3.5"- oder 2.5"-zoll-laufwerk®
7.Le support de pompepeutégalementmonter un SSD 2,5” * 1 ou 3,5”"HDD * 1 8-2. Installer disque durs 2.5" ou 3.5"®@

TKRIEAFEBLLE2.5"SSD*15,3.5"HDD*1 8-2. #%2.5” SSD/3.5” HDDRE&E ®




installation Guide- Installationsanleitung - Guide d'installation - Z¥#5F

8-3.2.5” SSD or 3.5” HDD installation®
8-3. Installation 3.5” oder 2.5”zoll-laufwerk®
8-3. Installer disque durs 2.5" ou 3.5"®

8-3. £%2.5” SSD/3.5" HDDEE ®

8-5. 3.5” HDD installation®

8-5. Installation 3.5” zoll-laufwerk®
8-5. Installer disque durs 3.5"®
8-5. Z%3.5" HDDHEH G

/8—4. 2.5” SSD or 3.5” HDD installation®
8-4. Installation 3.5” oder 2.5”zoll-laufwerk@
8-4. Installer disque durs 2.5" ou 3.5"®@

\8-4. Z¥#2.5” SSD/3.5" HDDEHE @

9.Cooling system
9.KUhlsystem

9.Systéme de refroidissement
9.HARE

120 Radiator or FAN:120*1

240 Radiator or FAN:120*2
= ==

360 Radiator or FAN:120*3

==l i==u==u

360 Radiator or FAN:120*3




installation Guide- Installationsanleitung - Guide d'installation - Z¥#5F

12. 240 radiator installation

10.Front radiator installation method-01 12.240 Kiihlerinstallation

10.Installationsmethodefiir den Frontklhler-01 12 Installation de 240 radiateurs

12.TRER240k HE L2 3

10.Méthoded'installation du radiateur avant-01
10. 80 RS HER & A K01

2\ -
0

2o

11.Front radiator installation method-02

11.Installationsmethodefiir den Frontkiihler-02 13.Installation des Kiihlers unten

11.Méthoded'installation du radiateur avant-02

1.8 e HERERR02

13.Installation du radiateur en bas

13.Installation of radiator at bottom
13. KRk HE R 3=




installation Guide- Installationsanleitung - Guide d'installation - Z¥#5F

14.Installation of ARGB LED Strips
14.Installation der ARGB-LED-Streifen
14.Installation des bandes LED ARGB
14 ARGBT% &%,

15. Finish installation

15.Schlielen Sie die Installation ab
15. Terminer l'installation

15.EM R4




